EAGRAROBREERT — 2 N— ABISH —F 20195127130 (&) 9mEAESH

mﬂﬁ%— C2Aa+ B R
[A&4] 1 7% :1,000,000 @ .~ 2 7 :400,000 @ 33 :250,000 4 3#%:150,000 @ ~ 5 7% :100,000 M
& %B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
N HEY 1:15. 2-2-2 4 - 1 497 | EEEEL (MA1D)
1 s FIRGEEE L R X o * v (IR
R q bhk—L6 B:5T—EN ellikse
S o RITHERL 1:15. 1-1-1 . - 11 4 SBRA (AEFN)
2 2| WY /R =T it a 15/23> e (—813 N
L:TUHA XTI K B:L¥Lay FR=8F 77 — Ln
N N EHEZ :15. -3 . — RAR (ffg)
3/5|5 eI/ IN—FEI "3 56_0E 1(31/54)4 433 5.6 2 (1?2) (%) A4
b ¥IO—U— BT EI(VYFv—L it s
5 B4 | HEEE 1:16.4 9-7-7 [38.8| — 3 456 | E<AERR (M0HE)
4lgl11] 3V 54.0 (5) Co | W) Togrxyarax
R:ZPOSTUE—> BITIvIT4AT WA fE
e EES| 1:16. —4-4 . - 12 451 | RBIIAB ()
5 g| TVISA it 3 i) (16)6 3 39.8 (+53) sang
Y92G5 B:7)—F1— TE FE
5,8 PS5 44 | HEfE— 1:16.9 6-5-5 |39.7| — 5 452 | /IVAEE (D)
6111 X>va-7TIv7 54.0 (1 1/2) (-3) |EEEER
R:TIvIaMK BTIET—4 B e
5 ° BEREE 7. -8~ . - TREET (aFn)
717110/ T7F1 bETZ— "3 %550 1(11/72)0 TEy %2 ¢ <4+217) 7@5%%%
ZoNd BFTINZARAI I7I75TT— L
I o3 ft 3 | WA 1:17.3 566 [39.8| — 9 456 | REREAR (AR4E)
8156 TR 54.0 (11/2) ) fH) #ES
RL:bE-—X2—-F— B:H/X Rl
N ° FIFEKER 7. -10- . — RIEAA (WE)
o NPT E T B4 A (11 117/26) 10-10-8 | 39.7 10 (4_340) L Gt
R:7v3I5—L B:Y¥ARxYXHL—FK "e =A
S EHB 1:17.7 12-9-1 . - 20 | ZEREAL (fRf)
10/8]12| V2w /AT X 3 54.0 (1/2) 9710 39.8 6 (5+50) sEEE—
RL:d—ILR7Ya2—Ib 81 bV XF— ESlite
5 Py G 4 3 | Rithe 1:18.2 11-12-12 [ 39.8| — 8 463 | BFOBE{Z (GEF)
1"Mlzlg|Ya#—-X71v7 54.0 2 1/2) (45) | AR
R:7ROAFXLTEL B:T7RONITIV NEBIE FIX
. £ AR AT :19. 11— . — 1S (hE)
w7 21H-7z12 731 50 Ty | A T G |HEE
L:€r/0704 BXRRwI59> HAStH 2 VIS

® 1 —F—@EBIBfL

13—7—
23—7F— |2,3,8,5,6,1,10,7,11,4,9,12
3a—7F-— 2,3,5,8,1,6,11,10,12,4,7,9
40—7— 2,3,5,8,1,6,11,4,10,12,7,9
® ILRE
BB 3 130 | | 74 K 2-3 1,480M He 2-3 8,490M 3 2-3-5 4,560M
B B 3 100/ 3-5 130M #e B 3-2 10,520 JEH 3-2-5 30,910M
2 880M 2-5 4,010M 5= 2-3 8,090M
5 120H B E 3-2 8,670M

ARICOVWTRDTEEERROODE. TR LI,



